B) Install Cold Shoe in place and secure
with (4) short & (2) long 6-32 socket cap head screws

[ D) Remove the blue protective film form the Gap Pad
and adhere the tacky side to the cold shoe

E) Using the (4) sleeve bearings as guide slide the side
insulation in place

1) Secure insulation foam and beaker in place
with straps (2 provided)

F) Secure side insulation in place with
(4) 10-32 socket head cap screws

C) Insert (4) Nylon sleeve bearings into the 1/2" DIA
holes in the cold shoe

H) Place the insulation foam over your beaker with
the blue liner facing outward

A) Replace (4) 6-32 truss head screws by G) Place your beaker into the cold shoe

(4) 6-32 shoulder screws (2 per side)

UNLESS OTHERWISE SPECIFIED: NAME DATE teca®

DIMENSIONS ARE IN INCHES DRAWN AA 07/10/17 ThemmoElectric Cooling America Cerperation
TOLERANCES: CHECKED Chicago, lllinois U.S.A
FRACTIONAL

ANGULAR: MACH+  BEND * PROPRIETARY AND CONFIDENTIAL

TWO PLACE DECIMAL  + THE INFORMATION CONTAINED IN THIS

THREE PLACE DECIMAL * DRAWING IS THE SOLE PROPERTY OF AHP-1200MSP

mw resrosuenon mparrorasawnoe COLD SHOE INSTALLATION

'T’\gf:;ziz:?ﬁg ';,AEE;RIC WITHOUT THE WRITTEN PERMISSION OF
: TECA CORPORATION IS PROHIBITED.
MATERIAL SIZE DWG. NO. REV

FINISH A S K1707 10

DO NOT SCALE DRAWING S1098 SHEET 1 OF 1



